
 

 

 Page 1 of 5 
   

SPEED V BRACKET KIT INSTALLATION INSTRUCTIONS 
 

PRIOR TO INSTALLING YOUR RECARO SPEED V BRACKET KIT AND SEAT SOLUTION, VERIFY THE 
FOLLOWING: 

1. What model is your vehicle?  
2. What driver’s steering wheel options do you have? (ie. Telescoping?) 
3. Purchase appropriate airbag simulation plugs/connector for the options of your vehicle.  

 

 WARNING 
DISCONNECT THE BATTERY FROM YOUR VEHICLE. REMOVE YOUR OEM SEAT FROM THE VEHICLE AND 
INSTALL APPROPRIATE AIRBAG SIMULATION PLUGS/CONNECTOR TO YOUR VEHICLE. FOLLOW ALL 
SAFETY AND INSTALLATION INSTRUCTIONS FROM THE MANUFACTURER.  
 
REMOVE THE SEAT BELT BUCKLE AND LAP ANCHOR FROM THE OEM SEAT. RETAIN THE HARDWARE AS 
THIS WILL BE NEEDED TO COMPLETE THE INSTALLATION INTO THE VEHICLE.  
 
PARTS NEEDED:  

 7227111.1 DRIVER’S BRACKET KIT 
 7227111.2 PASSENGER’S BRACKET KIT 
 0.70.9NT - INSIDE TRACK (SLIDER) KIT - NO TABS (this item is sold separately) 
 SPEED V SEAT UPPER (this items is sold separately) 

o NOTE: If you purchase a POLE POSITION N.G. FIA, skip the installation instructions using 
0.70.9NT. Key steps to skip will be noted in the instructions below. 

 

 
 
TOOLS NEEDED: 

 Torque wrench capable of 22 Nm 
 13 mm hex head 
 6 mm Allen wrench 

 
 
  



 

 

 Page 2 of 5 
   

INSTRUCTIONS: 
 

1. Align rear mounting holes on track IB and J Bracket. Insert M6 bolt through holes and hand start bolt into 
rear mounting hole. 

 
2. Once bottom bolt is hand tightened, then depress track spring to release inner track and slide down to full 

down position. Apply upward pressure until you hear it click. This will ensure the track is locked. Hand start 
next two bolts with washers. Torque forward two bolts to 12Nm. Slide inner track up and torque rear bolt to 
12Nm. 

 
 
 
 



 

 

 Page 3 of 5 
   

3. Insert M6 rear bolt through hole and spacer plate and hand start. Depress track spring and slide inner track 
down. Then apply upward pressure to lock in place. Hand start the front two bolts through the track and 
spacer plate. Torque all bolts to 12Nm. 

 
 

4. Align release lever hole to post on track and press until it is held by clamp. Repeat on opposite side.  

 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

 Page 4 of 5 
   

5. Insert M8 bolt through the front hole on each track. Then install AM IB and OB brackets. Tighten nuts, but 
do not torque. 

 
 

6. Press the towel bar and slide tracks to full rear position. Apply upward pressure until you hear a click to 
lock tracks in place. 

 
 

7. Insert 2-M8 bolts through the two rear holes of IB track and hand start nuts. 

 



 

 

 Page 5 of 5 
   

8. Insert 2-M8 bolts through the two rear holes of OB track and hand start nuts. 

 
9. Torque all 6 bolts with a 22NM torque wrench. 

 
 

10. Set the seat upright and test movement of tracks. 

 
 

11. Install the seat belt components to the bracket kit, torque to OEM specifications. Install the seat assembly 
in the vehicle and torque to OEM specifications.  


